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ECRITURE SCIENTIFIQUE - 4EME - http://www.toupty.com

Classe de 4¢

Exercice 1

Compléter par le nombre qui convient :

»1. 0,7206 = 7,206% ........ »3.
»2. 5,094x....=0,00005094 »4.
Exercice 2

Compléter par le nombre qui convient :

»1. 3077x..... = 0,0003077 »3.
»2. 8,03x...... = (0,0000803 »4.
Exercice 3

Compléter par le nombre qui convient :

»1. 0,02003 =2,003% ....... »3.
»2. 5,056x .. = 0,000005056 »4.
Exercice 4

Compléter par le nombre qui convient :
»1. 3706000 = 3,706x% ...... >3
»2. 9.011x ......... =90110 »4.
Exercice 5

Compléter par le nombre qui convient :
»1. 0,003 =53X........... »3.
»2. 1709 =1,709% .......... »4

Exercice 6

Compléter par le nombre qui convient :

»1. 2604x ....... = 0,026 04 »3.
»2. 0,008038 = 8,038% ...... »4.
Exercice 7

Compléter par le nombre qui convient :
»1. 0,303 =3,03X ........... »3.
»2. 6,504x .... = 650400000 »4.

0,03019 = 3,019x .......
8605000 = 8,605% ......

40,38 = 4,038% ...\ o. ...
4,906% . ... = 490600000

110,2 = 1,102% ... .......
T07TTX ...... = 0,007 077
1,064X .ovonn... = 1064
8,006% ...... = 8006 000
6,022x . .... = 0,000 6022

10770 = 1,077% oo

3,002x . .... = 0,0003002
3,046% .. = 0,000003 046
707X .o = 770700
84050 = 8,405 .........
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3006 = 3,006% ..........
0,00002802 = 2,802x.. ...

0,0007094 = 7,094% .....
0,00005 =HX ...........

0,040 18 = 4,018% .......
30000000 = 3% .........

2,012x ........ =0,2012

0,000002 043 = 2,043x ..
408,7 = 4,087X ...\ . ...

0,02073 = 2,073x .......
0,0007006 = 7,006x . . ...
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